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Answer anY ftve questions.

l. (a) Explain the significance of carry flag and

auxillary carry flag in 8085 microprocessor.
L

Define stack and subroutine in 8085

microprocessor. 2

What do you mean by vectored olrd non

vectored intemrpts ? Name tire vectored and

non vectored interruPts in 8085. 3

(b)

k)

Contd.



What is the function of Program Counter

and Stack Pointer in 8085 ? Z

What do you mean by tri-state devices ?

Mention any use. 2

Calculate the address lines required for an

8K-byte memory chiP. I

Distinguish between a high level language

and a low levei language ' 2

Why 8085 is called an 8-bit microprocessor ?

I

Explain the addressing modes of 8085' Give

examples of each. 5

z. (a) Draw the timing diagram for the following

(d)

(e)

a

(c)

(h)

(,

instructions

(D IN

(ID STA

(b) Give the meaning of
instructions

(I) LXI

A' STAX
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QII) RAL

QA PUSH

A cALL

(w) tc
W) CMP

(wI\ :xltt. :

i

3. (a) Calculate the delay in the following loop,
assuming the system clock _frequency is2MHz 

: 5

Label Mnemonics T_States .

MVI B, l6H 7

DELAY: NOp 4

NOP 4

DCRB:4
JNZ DELAY IO/7
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Dcsign an interfacing circuit to interface

8085 with the following chiPs 10

0 4K ROM

//1) 2K RAM

(rrD 825s

Determine the address range for the rnemory

chip and port addresses for the 8255 chip'

Write a program to find the largest of two

8 bit hexadecimal nurnber in assembly

language. Specify mernory locations, opcode

and operand in the Program. 5

Draw the block diagram of 8253

prograrnmable interval timer. l0

Write a

counter,

counter

program to initialize 8253 as a

in which the counkr is oPerated bY

2 in mode 0.

Describe any t\uo modes of operation of

8253 timer.

(b)

(c/

(a)4.
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(b)

k)

*:l: 
.un 

assembly language program tomuttlpty two numbers stored in memory
location C050 and C051. Display tt" ."*it
rn location C055. 

6

Explain the function of the Following routine
4

LXI SR STACK

PUSH B

PUSH D

PUSH H

POP B

POP D

POP H

RET

5. (a) What is 8237 DMA Controller ? With thehelp of a block diagram, explain theinterfacing of g237 OMa Contrott". *l,t
8085 microprbcessor. l0
Describe in brief the DMA channels and
signals.

Contd.
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(b) Write a prograrn to read the DIP switches in

Figure I and display the reading at port A'

+5Y

Figure I

(c) Elaborate the 8085 interrupt process rn steps'

6. (.) Design a circuit to interface an RS 232

terminal using 82 5 1 Programmable
comrnunication interface. l0

8255 I'nt
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Determine the data in the following which
is appropriate for the above applica'tion

0 Control Register

(11) Status Register

(III) Mode Word.

(b) Draw the block diagram for g255
. programmable peripheral lnterface

configuration in Input or Output tranasfrake .
mode. Describe the control signals associateJ
in either case. ,.

(c) In Figure 2, recognize the
interfacing.

type of I/O
2

Data

Bus

lrr -S
W

What is
mapped
mapped

;3 (tE 501) MPMC/G

Figure 2

the difference between memory_

-IlO interfacing and peripheral
I/O interfacing ?

7 Conttl.
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Octal

Latch

--



t

7. (a) Describe briefly with block diagram any one
of the following l0

(I) Interfacing a keyboard and displaying
the value of each key in seven segment
LED using 8255.

(t Interfacing ADC

(b) For the following

0801 with 8255.

progftrm

Instruction

START : LDA FFF9H

assembly language
7

STA FFFSH

MOV B, A

JMP START

(I) Identifo the
instruction.

Bytes

J

I

J

machine

T States

13 (4, 3, 3, 3)

13(4,3,3,3)
1

l0 (4, 3, 3)

cycle for each

(ID Specifu the number

signals in one loop.

Write the word format for SIM
J

Among all the 8085 interrupts, which
interrupt is having the highest priority ?

of fi2t and yyp

(c)
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